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HBEREBER

o | & A fak (mg /L) C O D(meg/L)
T-N | T-P 5 15 20

1 |FRYL 048 | o013 [N

N EEEIN 047 | oot [N

3 |[KHFL 047 | oor2 [N

4 |[KINE L 072 | oooo [

5 [BTLA L 097 | oor1 [N

6 |FIAS L 0.82 oo1 [

BTN 1.0 oot [N

8 |ABYL 0.8 0013 [

9 |EHY L 15 0066 [N

10 |Fieh O 1.1 0.040 |

1 |FFepidish s 13 0076 [N

12 |FHH L 13 0019 [N

13 |EHH L 1.1 0009 [

14 B)IIA L 049 | 0031 [N

15 |4 L 049 | o032 [N

16 |Ftth 7 L 054 | oot [N

17 |[BEEAS L 0.61 0011 [N

18 |t 056 | 0017 [

19 |[/NBR3 037 | o007 [l

20 | B3It 05 0.000 [N

21 ALt - - [

22 |Fit(SshE) 059 | 0049 [N

23 |E1Tith - - I

24 (hEMit - - [

25 | Bt 058 | ooos [N

26 | )11 Bt 038 | 0004 [

27 |E@ith 2.2 013 [N

28 | AKXt 4.2 0.39

29 | L) 0.79 0071 [N

30 B3R 29 o.19 [N

31 [BES 2.0 011 [N

32 [Fib (B 0.6 0024 [

33 |4t 0.2 0007 [

34 st 045 | 0023 [N

35 |MAREith 042 | o013 |[IEEN

36 |79t 1.0 004 [T

37 |t 0.69 o1 [N

38 |=A=ER 14 0074 [N

39 |fEE 11 015 [N

40 |Fitn 20 0.12 |[INN N

41 |RBAEM 035 | o040 [N

42 (Bt 034 | 0017 [N

43 | &t 05 0016 [N

44 |kEith 0.63 0022 [ |




No % % iﬁ“l‘&l‘ﬂ%(mg/L) C O D(mg/l—)
) COD T—N T—P 5 10 15 20 25 30 35
45 [JLgith 9.3 15 012 [N
46 |FaRith 7.4 077 | o043 |[HEEN
47 | AL HEE 25 23 0.43

48 | Eith 8.9 13 0.078

49 |Feith 15 - -

50 |3&E:th 11 1.1 0.45

51 |Ei&EFith 19 2.2 0.47

52 |fEXth 27 33 0.43

53 |ELith 8.3 0.95 0.072

54 |Eith 12 1.2 0.12

55 |EHE;th 78 0.95 0.1

56 [#AALih 9 - -

57 |FRiEith 8.7 - -

58 (Aith 10 - -

59 |FEOD Rt 6.5 - -

60 |BEHEM 15 1.2 0.095

61 |Eith 15 15 0.14

62 |TH/ith 12 - -

63 [Aiith 8.6 - -

64 |FtEESm)| 9.6 - -

65 |—D&ith 13 - -

66 [{—ith 16 - -

67 [FLLith 20 0.54 0.008

68 |25t 6.0 0.91 0.028

69 [=FHER:th 6.3 0.3 0.012

70 |¥EzAith 6.4 0.24 0.015

71 |shLith 6.8 0.41 0.015




